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QUESTION 1

Which logical networking service does NSX Edge use to change source of destination IP addresses and TCP/UDP port
numbers that are found in the flow of a packet header?

A. Load balancing

B. Dynamic Host Configuration Protocol (DHCP)
C. Network Address Translation (NAT)

D. VPN

Correct Answer: C

QUESTION 2

Which service of VMware Integrated OpenStack has the ability to communicate with VMware NSX Controller, create
logical switches and routers, and add new NSX virtual machines on demand?

A. Neutron
B. Proton

C. Glance
D. Nova

Correct Answer: A

QUESTION 3

Which mode does the NSX Edge router use to connect to the logical network for load balancing?
A. One arm

B. Transparent

C. inline

D. Custom

Correct Answer: A

QUESTION 4

What are the two core components that VMware NSX leverages for North-South traffic flow with an external network?
(Choose two.)
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A. vSphere Standard switch

B. Edge Services Gateway (ESG)
C. vSphere Controller

D. DLR Control VM

Correct Answer: BD

QUESTION 5

One of the advantages of using VXLAN over VLAN is its high scalability. What is the maximum number of logical
network IDs that is handled by VXLAN?

A. 16 million
B. 10 million
C. 4,096

D. 12 million

Correct Answer: A
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